log,h =x&© a*=>
m* x mY = m**tY log.ab =log.a+log.b

a

m* +mY = m*Y log, b logca —log. b

(m*)Y = m*>Y log.a” =rlog.a

1. Show that the equation log,(x + 2) + log,(x + 3) = 1 has only one solution and state its value
2. Make x the subject of the following formula
2 +logsx =3logsy

1. log,(x +2) +log,(x+3) =1

log.a+log.b =log.ab

log,(x +2)(x+3) =1
log,h =x&© a*=Dh

(x+2)(x+3)=21
x2+5x+6 =2
x2+5x+4 =0
x+4Hx+1)=0

x=—-4,x=-1

x = —4 log,(—4 + 2) +log,(—4 + 3)
log,(—2) +log,(—1)
Consider log,(—2) = x © 2¥ = -2
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logg(-2)
. 1+4.532360142i

MAT/VCT logab | Abs [d/d o |d2/dx2 DS

x =—1 log,(—=1 + 2) +log,(—1+3)

log,(1) + log,(2)
0+1
1

Solutionisx = —1
2.Make x the subject of the formula
2 +logsx =3logsy

logs x = 3logsy — 2

logs x = 3logs y — logs 52
logs x = 3logs y — logs 25

logs x = logs y3 — logs 25
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